






Syllogism
Part – 1 (Concept Building)



Syllogism

 +VE
 Some
 All

 -VE
 Some Not
 No



Conclusion Type

Definite Possibility



1. Some B are A
2. Some B are A is a Possibility
3. All A are B
4. All A are B is a possibility
5. All B are A 
6. All B are A is a possibility
7. Some A are Not B
8. Some A are Not B is a Possibility
9. Some B are Not A
10. Some B are Not A is a Possibility

Statement:- Some A are B

Conclusion -



1. Some B are A
2. Some B are A is a Possibility
3. All A are B
4. All A are B is a possibility
5. All B are A 
6. All B are A is a possibility
7. Some A are Not B
8. Some A are Not B is a Possibility
9. Some B are Not A
10. Some B are Not A is a Possibility

Statement:- All A are B

Conclusion -



1. Some B are A /Some A are B
2. Some B are A is a Possibility
3. Some A are Not B
4. Some A are Not B is a Possibility
5. Some B are Not A
6. Some B are Not A is a Possibility
7. No A are B
8. No A are B is a possibility
9. No B are A 
10. No B are A is a possibility

Statement:- Some A are Not B

Conclusion -



1. Some A are Not B
2. Some A are Not B is a Possibility
3. Some B are Not A
4. Some B are Not A is a Possibility
5. No A are B
6. No A are B is a possibility
7. No B are A 
8. No B are A is a possibility

Statement:- No A are B

Conclusion -



Statement:
All P are W
Some W are G
No G is H
Conclusion:
I) All P are H is a possibility
II) Some W are Not H
III) All P are G is a possibility
(a) Only I follows
(b) Only II and III follow
(c) Only III follows
(d) All follow
(e) None of these



Statement:
Some meat are Chicken
All chicken are fresh
No chicken are fish
Some fish is whale
Conclusion:
I. Some fresh are not fish
II. All meat being Whale is a possibility
III. No meat is Fish
(a) Only conclusion I follows
(b) Only conclusion I and II follows
(c) Only I and III follows
(d) None follows
(e) All Follows



Statement:
Only a few Chain are ribbon
Only a few ribbon are lace
No lace are socks
Conclusion:
I. All ribbon being socks is a possibility.
II. All ribbon can never be lace.
(a) Only conclusion I follows
(b) Only conclusion II follows
(c) Both I and II follows
(d) Neither I nor II follows
(e) Either I or II follows



Statement:
Few hills are mountain
Each rivers are mountains
Only a few Dam are rivers
Conclusion:
I. All Dam are mountain is a possibility
II. Some hills are not rivers
III. All Dam are Hills is possibility.
(a) Only conclusion I follows
(b) Only conclusion II and III follows
(c) Only I and III follows
(d) None follows
(e) All Follows



Statement:
All lyrics are songs.
Some songs are not rhythm.
Some rhythm is poem.
Conclusion:
I. Some poem is not Songs.
II. At least some lyrics being rhythm is a possibility.
(a) Both I and II follow
(b) Neither I nor II follows
(c) Either I or II follows
(d) Only I follows
(e) Only II follows



Statement:
Minimum watch is quartz
No quartz is clock
A few clocks are second.
Conclusion:
I. Some seconds are not quartz.
II. No clock is watches.
III. All watch being second is a possibility.
(a) Only I and II follow
(b) Only I and III follow
(c) Only II and III follow
(d) Only I follows
(e) Only II follows 



Statement:
Only a few TV are Radio
No radio is jockeys
All Jockey are Transmitter
Conclusion:
I. No radio is a jockey is a possibility.
II. Some TV is not Transmitter
III. All Transmitter being TV is a possibility.
(a) Only II and III follow
(b) Only I and II follow
(c) Either I, II or III follows
(d) All of I, II and III follow
(e) None of the above



Statement:
All light are Flame
All flame is air
No flame is burns
Conclusion:
I. Some burn is not air
II. Some air is not light.
III. Some air is burn.
(a) All the conclusions follow
(b) Either I or III follows
(c) Only II and III follow
(d) None follows
(e) Only I and II follow



Statement:
Some Square are Circle
No circle are Triangle
All Triangle are hexagon
No hexagon are square
Conclusion:
I. Some square are not hexagon.
II. All circle being hexagon is a possibility.
(a) Both I and II follow
(b) Neither I nor II follows
(c) Either I or II follows
(d) Only II follows
(e) Only I follows



Statement:
Some pink are not green 
All green are yellow
Only a few blue are green
Conclusion:
I. No green are pink is a possibility.
II. All blue are yellow is a possibility.
III. Some pink are not blue. 
(a) Only I follows
(b) Only III follows
(c) Only II follows
(d) Only I and II follows
(e) Only II and III follow



Statement:
Each Chinese are Japanese
No Chinese are Indian
No Indian are Mexicans
Conclusion:
I. Some Japanese are not Indian.
II. Some Mexicans are not Japanese.
III. All Chinese being Mexicans is a possibility.
IV. All Indians are Japanese is a possibility.
(a) Only II and III follows
(b) Only I, III and IV follows
(c) Either II or III follow
(d) Only I, II and III follow
(e) Only III follows



Statement:
All Apple are Guava
At least Some Guava are banana
All banana are Kiwi
No apple are Kiwis
Conclusion:
I. All kiwis being apple is a possibility.
II. Some guava are not banana
III. Some banana is definitely not guava.
(a) Only II follows
(b) Only I and III follows
(c) Only I, II and III follows
(d) Either I or III follow
(e) Only II and III follow



Statement:
All arrow are Line
Only a few Line are star
Only a few Star are circle
No circle is Line 
Conclusion:
I. No Arrow is circle
II. All stars being Line is possibility.
III. Some arrow are not stars 
(a) Only II follows
(b) Only I or II follows
(c) Only I follows
(d) None of I, II, III follows
(e) None follows



Statement:
Some bottles are wine
Some wine are dot
No dot are bottle
Only a few wine are cashew
Conclusion:
I. Some cashew are not wine
II. All wine are cashew. 
(a) Both I and II follow
(b) Neither I nor II follows
(c) Either I or II follows
(d) Only II follows
(e) Only I follows



Statement:
Only a few Portent are Impute
All solicit are impute
Only a few Impute are Covert
Conclusion:
I. All solicit can never be Portent.
II. All portent being Impute is a possibility.
(a) Both I and II follow
(b) Neither I nor II follows
(c) Either I or II follows
(d) Only II follows
(e) Only I follows



Statement:
At least Some Interest are topic
All topic are Book
Only a few Book are Hates
Conclusion:
I. No interest are hates
II. Some Topic are hates
III. No topic are hates 
(a) Only II follows
(b) Only I and III follows
(c) Only I, II and III follows
(d) Either II or III follow
(e) Only II and III follow



Statement:
All admin are amazing
Only a few Amazing are attention
Only a few certificates are attention.
All culture are certificate
Conclusion:
I. All certificate being admin is a possibility
II. Some admin being attention is a possibility.
III. No admin is Culture
(a) Only I follows
(b) Only I or II follows
(c) Only II follows
(d) None of I, II, III follows
(e) Only I and II follows



Statement:
All nature are beauty
Only a few beauty are wonder
No wonder is worlds
Conclusion:
I. Some nature are worlds
II. Some wonder are nature
III. No wonder are nature
(a) Only I follows
(b) Only I, II and III follows
(c) Only I and III follows
(d) Either I or II follow
(e) Either II or III follow



Statement:
Some number are palindrome
Some palindrome are Digit
No digit are Prime
No prime are number
Conclusion:
I. No Digit are Number
II. All prime are number is a possibility
III. No palindrome are Prime
(a) Only I follows
(b) None follows
(c) Only II follows
(d) Either I or II follow
(e) Only I or III follow



Statement:
Only a few coconut are tree
All tree are Ball
No ball are heavy
Conclusion:
I. All Coconut being tree is a possibility
II. No tree is heavy
III. Some coconut are not heavy
(a) Only I and II follows
(b) Only III follows
(c) Only I follows
(d) Either I or II follow
(e) Only II and III follow
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